EARAROBEEIERT — 2 N— IBISH —F

20195F9A7H () 4mpR#1H

LAl o R2m HS 4t ETE] B

‘ [R1%] & ‘ [RERBE] — | Z (&) 14000 B

[A~&£] 17 :7,000,000  ~ 23 :2,800,000 37 :1,800,000

/473 11,100,000 5 7& :700,000 M

WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

s 2 | | 1:21.8 3-3 34.1] 79.7 | 1 436 | FRARE (EX)
TITFLRNTAIL 5D 2 il WA ey
R:F4—=TA2N7 b B:282—T4 J=HrTr—L
=TS 4 2 | =RE 1:22.0 2-2 34.4| 774 | 5 470 | HKEE (RR)
J4 Tl 54.0 (1 1/4) (=) KEZE
Vv Ray1A4 B4 T7rVa EERNEZ e ]
g /7)Y o2 ?ﬁﬁk 21:25.5 5-4 34.4| 742 | 9 | 418 ;¥§Z (FH)
RIS T e B CRXT )| T

1BKIh— : = Rt (FER)

FHALA i 2 s 1(52/%4 12-12 [33.3|73.9 | 2 (434) i
x2S BUT7TIz b pusE ¢ ]

S — A AR 122, - . . &R (ER)
IN—=2 TSI 4 2 &% N 1(32/24)5 7-7 343|722 | 11 (450) HE%TS%H$
R:T7z/—X*/ B:TUF4ERTA b BINT 7 — L
K s 2 | BAIUGAF 1:22.6 3-4 34.8|70.6 | 4 448 | FBR (ER)

6|11 |2ty b 54.0 (1/2) ) |wne
L:oA7% BT7URAXTIIL EERNEZ e ]
S 4 2 | RHEE 1:22.7 11-11 33.9]70.3 | 6 482 | ATRTL (FH)
zag TJULRZRx—=a #53.0 (3/4) ) A(HSLG11/7>>7
LIET773x47 B:.YF/ %=V ERT7—L
_ 4 2 | BEF 1:22.8 8-7 34.6| 68.8 | 3 400 |BE (FEH)
8l5l8|7—777h 54.0 (3/4) (=) | BEER
LA NYTIAL BA—F4EYY AHE EE
SN A s oo | dtRiE— 1:22.8 9-9 34.3]69.0 | 7 438 | =iERZ (ER)
E=4 Tr=NTdrd 54.0 7E) (-) () 61—y
/G UZAN B:U7FTF4—2X =Y Ty—LA
. EE e :93. = X i REBX (EXR)
10l8 14 R — Ly k 2 54.01 7l 1 (2:;3) 3 10-10 34.6 | 63.6 14 (4i0) -
L:¥r/0704 B:EaT7IU- BF %8B
3 s o2 | BRE 1:23.7 1-1 36.3| 57.2 | 10 | 432 | KBS FER)
EH 3= ¥ /I4ME-F 54.0 21/2) ) AORF
x2S BT7ATLxF BN
o 4t 2 | BEFE—EB 1:24.0 5-6 36.0 | 55.1 | 13 | 428 |FGBEA (FR)
1212 7177 =F L= 54.0 (1'3/4) Oy |mes’
R:a A EALI IR BiTYFAL Wing Farm
N 4 2 | FIEEZ 1:25.2 13-13 [ 35.3| 44.5 | 8 414 | BERM (FR)
13/8(13) 777 54.0 @) () |BEBER
LN—=YI54 B:INSFs1— FREHRS
= 5N i 2 | BREESR 1:26.2 14-14 | 35.6| 34.9 | 12 | 450 |#HUEA (ER)
14/ 5|7 273 —TFT—1% A51.0 (6) (—) AR
L:ErFOvY B:3at€ITUH TERS
@ 21 L
£y 46.2-34.4
NaO>z24 L | 12.6-11.3-11.7-11.8-11.6-11.3-11.5
® I—F—@EBIERL
13—7-
23—7F—
3T—7— 3,10(1,5) (11,12)-2,8,4,14,9-6-13-7
Mal=5r= 3,10,5(1,11)12(2,8)-4,14,9,6-13=7
[ N5
B Op 5 140/ 794K 5-10 320M & 4-6 450 &R 5-10-11 10,910M
% B 5 1104 5-11 1,600 | | B &= 5-10 770 | | 3:E=E | 5-10-11 25,000
10 220/ 10-11 6,190/ B H 5-10 910M
1" 860

ABICOVWTRDTEEERROODE. TR LIV,




